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The equation 5x* +48x” +100x+2 =a has roots 7, 1, and 7.
Given that 7, +7, + 73+ 11,15, =0, find the value of a.
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Let p(x)=2x"—x" —2x+1.
(1)  Show that x =1 is a zero of p.

(i) Hence find all the solutions of 2x* —x* —2x+1=0 .
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Given that Ax’ + Bx” + x+6 is exactly divisible by (x+1)(x—2), find the value of 4
and the value of B.
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When f(x)=x"+3x"+ px’ —2x+¢ is divided by (x—2) the remainder is 15,
and (x+3) is a factor of f(x).

Find the values of p and ¢ .
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Consider the equation 9x* —45x% +74x—40=0.

(a) Write down the numerical value of the sum and of the product of the roots of
this equation.
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Given that 2+i is a root of the equation x’ —6x*+13x—10=0 find the other
two roots.
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The polynomial f(x)=x"+3x"+ax+b leaves the same remainder when divided
by (x—2) as when divided by (x +1) . Find the value of a.
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Let p(x) = 2"+ x'— 26x"— 13x+ 72x + 36, x e R..

(a) For the polynomial equation p(x) =0, state
(i)  the sum of the roots;
(i) the product of the roots.

A new polynomial is defined by g(x) =p(x+4).

(b)  Find the sum of the roots of the equation ¢ (x) =0.




image5.png
When the polynomial 3x° +ax+5 is divided by (x—2), the remainder is 2, and when divided
by (x+1),itis 5. Find the value of @ and the value of 5.




